REFLRL AT

I 0B T DR B BT UR

Ao A R 1 5

All rights reserved. Unauthorized reproduction, use
or disclosure to third parties is strictly forbidden.

=7 .

SLFRS X SLFR X
A (MM) B (MM) C(MM) D (MM) F (MM) L(MM) | N(QTY) | S (SIZE) A (MM) B (MM) C(MM) D (MM) F (MM) L (MM) | N(QTY) | S (SIZE)
SLFRS X 25 76 66 34 26 1 65 4 M5x30 SLFR X 70 123 13 83 12 12 55 b M5x30
SLFRS X 31 82 12 40 32 1" 65 & M5x30 SLFR X 75 125 15 89 71 12 55 [ M5x30
SLFRS X 43 92 82 52 L 1" 65 L M5x30 SLFR X 100 155 145 ne 101 12 55 6 M5x30
SLFRS X 50 100 90 63 51 12 65 b M5x30 SLFR X 125 180 170 140 126 12 55 6 M5x30
SLFRS X 68 15 105 83 70 12 65 L M6x30 SLFR X 127 180 170 140 128 12 55 6 M6x30
SLFRS X 75 125 "5 89 11 12 65 L M6x30 SLFR X 150 209 199 164 151 12 55 6 M6x30
SLFRS X 100 155 145 14 101 12 65 6 M6x30 SLFR X 200 260 250 214 201 12 55 8 Méx30
SLFRS X 125 180 170 140 126 12 65 6 M6x30 ﬁ
SLFRS X 150 209 199 164 151 12 65 6 M6x30
SLFRS X 175 230 220 189 176 12 65 8 M6x30
SLFRS X 200 260 250 214 201 12 65 8 M6x30
f A - A
A 1
[aa} o [
| ASS S ASS T ]
=
Li 7773
20
Al 8
F
DA L
5] N |SCREW MC6S (S) FZB / Al -
4| 1|SLEEVE GALVANIZED / AISI316 -
3| 1 |FLANGE GALVANIZED / AISI316 -
2 | 1|COMPRESSION RUBBER ROXYLON -
1] 1|COMPRESSION RING GALVANIZED / AISI316 -
Ifem [Qty |Designation Specificafion NefWeight
Designed by Date General folerance Welded details General surface TotWeight
ROXTEC INTERNATIONAL AB | se-pertor 2003-02-04""" m ASHEIHLC |f°uu""mh S
BOX 540 S-37123 Karlskrona Checked by Format Tt e Projaction
TEL: +46 455366700 FAX: +46 455 82012 M KarlSSOﬂ SLFR X AND SLFRS X methos
Approved by Seale
J [ 'sizes ADDED 2015-05-12]se-jenboh D)] Roxtec A Karlsson ASSEMBLY 925-6200 |
Rev Type of revision Date Sign Information 5100[”390 J




